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YnpocTure BhIpaxKeHue:

a+7  ,a-4. 5m-n _m-6n,
4 12 9 . 14m m
2b-7c _38b+2c, x+4 y-3.
2) =% 15 % s 11y
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x Y ab ac
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p 8p PP p
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102. Bruimmoauure aeiicTBUN:

2. .3x-2. &8 .
1)x+.x+l’ S)a—s a+3’
m__m . B Y
2)n m+n’ 4)?)c—l Sc+1’
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£ __x
2y+1 38y-2’
a-b a-b
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104. VYmpocture BhlpaXeHHE:
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3 2+
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5m+ 3

im+4

Am+1) S(m+1)’
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c+b
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106. BoimosnuTe croX)eHne win BblYUTaHUE Apobeii:

a 3a+1 m+l m-1
1)a—2 8a-6" 2 Sm-15 2m-10’
18 6 m-2n  m-3n
*) b2+38h b’ 6) 6m+6n 4m+4n’
c+1l c2+¢’ a’?+2 2a+4’
d-1 d 3x-4y Sy-=x
+ . -—



108. BroinosHuTE A€HCTBUA:

3 x+4 3a+b -
1)x+3+x2-9' 1) a2—b2+a+b’
a® a | m m? .
" a®-64 a-8’ 9) m+5 m24+10m+25’
9
3) 6b 1 6) b b

a+b a®+b® +2ab’



110. Ilpeacrasbre B BHAE APOOH BbIpaXKEHHUE:
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2 iC——x;
)y

5) T4=+2;

1) S -243;

p

p

5) 2_3b+2a;
a

3b+4
-2

6) -3;

12m* +1
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117. VYnpocTture BhIpaXE€HUE M HAWIUTE €ro 3Haqel;nc:
1) 7 12 3

- — ,ecaum a=>5;
2a-4 a’-4 a+?2

9) 2c + 3 & 2c-3  16¢
22 -8¢c 2c2+3¢c 4c¢2-9
gy m> +16n° _ m+4n
m? —16n°> 2m —8n

, ecam ¢ = -0,8;

,ecxum=3, n=0,5.



124. YnpocTure BbhIpaxkeHUe:
4b a-b a+b

1 + + -
) a:-b a®+ab b -ab
1 1 x 22 +4
+ _— + -
2) x-2 x+2 x2-4 8x-213
3) 1 2 1

(@a-5by? a®>-25b> (a+ 5b)?
) x> +9x+18  x+5
wy+3y-2x-6 y-2°




125. JlokaXXuTe TOXJIEeCTBO:
a+3 a-3 12 _a-3.
N e i Tt B
9) b-4 b* -2b-24 .
92a-1 2ab-4-b+8a 2a-1
126. /lokaxxure TOXIAECTBO:
1 B 1 " 1 *
(@a-b)ya-c) (a-b)b-c) (c-a)(c-D>b)
127. JlokaxXuTe TOXJIeCTBO:

bc ac ab _
(a-b)(a-c)+ (b-a)(b-c)+ (c-a)(c-b) 5
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